CAE(02 — TUTE 4 6. D

F * 1. The support end of a dry thrust bearing is shown in the figure. Four pads

form the contact surface. If a shaft creates a 500 N thrust uniformy <
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3. A cord is wrapped twice around one capstan 4 and three times
around a second capstan B. Finally the cord goes over a half barrel i i
section and supports a mass of 500 kg. What is the force T required ' ;
to maintain this load? Take the coefficient of static friction = 0.1 for Gz T P LTI
all surfaces of contact.
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4. An idler pulley is used to increase the angle of wrap for the pulleys shown in sec pulley
the figure. If the tension in the slack side is 1000 N, find the maximum torque el &
that can be transmitted by the pulleys for a coefficient of friction of 0.3.
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P of magnitude 60 N is applied at A. Knowing that the coefficient of kinetic
friction is 0.40, determine .
(a) the moment about 0 of the friction forces applied to the drum whena 4! a

=250mm.,mdb=300mm,and
(b) the maximum value of the coefficient of kinetic friction for which the

brake is not self-locking.
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